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All answers should be written on the ANSWER SHEET.

G 45
Section A — each question carries 4 marks
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2)

3)

4)

S)

6)

7)

8)
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Increase the length of each side of a square by 15%. By how many percent is the area increased?
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HENED » oK 10 KR &4 EELHIEE -
Factory A can produce (3x—10) products every 2 days. Factory B can produce (7x+4) products

every 5 days. Given that the two factories can produce the same number of products in 10 days, find the
number of products that the two factories can produce in 10 days.
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The units digit of a six-digit number is 1. If this 1 is moved to the first place of this number, the new
number obtained is one-third of the original number. Find the original six-digit number.

A8 TR, o g BA 20 TUNEE (IR 12 /0) o U INREA 45 T orgE , (Tfi3F 60 g ) o
ESEEUR T 78 30 o3 B OREGEH L $TATE AT NI A -

A "clock" has 20 "hours" (rather than 12) on its face and 45 “minutes” (rather than 60) for each hour.
When the clock shows 7:30, find the included angle between the hours hand and the minutes hand.

B y S NS (AL AN
E[114—0.3+0.33+0.333+...+0.333..”.%3 KA BNEEEE

10 3
Let 4=0.3+0.33+0.333+...+0.333...33 . Find the integral part of A4.
10 "3" 's
ot e 312
N Ielis| <07

312
Simplify > .
P 507

a b A 20 $5KFE - FAREE CHELONIFTE AET - M—3E 720 RT?
There are 20 couples in a ball. Each person shakes hands with anyone other than his/her spouse. How
many times of hand-shaking have occurred?

e 8 (EEE T E  FE 2016 0 SRE R E RIVEL -

If the sum of 8 consecutive odd numbers is 2016, find the largest number among them.

~ 5 ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.

LS S o
Section B — each question carries 5 marks

9) TE TFHEEMLIES | o A(—4,5) TR B ETEEE 270° 2 B(x,y) 0 Kx+y HI(E -
In the rectangular coordinate plane, rotate 4(—4,5) 270° anti-clockwise about the origin to B(x,y).

Find the value of x+y.

10) FEREETR2017+( )=( )...7 AORESETIE b IERSE S Rk - B S SR 2
How many ways are there to fill in positive integers in the division 2017 +( ): ( )7 so that the
equality holds?

1) AR R 17%HE/K 10 71 EERE LRSI 20% ~ AMER 15%HVEK 18 7 SRKALURE S
HERZKRE R R NEA R IMEZ %
There is 10 L of salt solution having a concentration of 17%. To mix 18 L of salt solution having a
concentration not higher than 20% and not lower than 15%, find the difference between the maximum
and the minimum concentration of the salt solution used for mixing.

12) FEIEEH a BTPITER n JIFE a B n RVERFEIT 3LV V4 =2 V12 =\4x3=23 -
K20 x3x12 B9 - AL BRI -
If the square of non-negative number « is equal to #n, then a is called the “principle square root of »”” and

denoted by “ Jn . For example J4=2 and V12 =v4x+3 =23 . Find the value of /20 x~/3x~/12

and simplify it to simplest surd.

13) EUlx=2.017-3.12 » SRR BEET x -

Given that x =2. 01 7 3. 12 , express x in simplest fraction.

14) HE-HA-AP_BERAEEY > HHP—EBRKS  XeRI—BIVRARE -
If the side lengths of a right-angled triangle are all integers and the one of the length is 8, find the greatest
length of the longest side.

15) >k 312 BYIERTFI »

Find the sum of all positive divisors of 312.

16) E={r%n FRLL 6 A1 11 BFHIERETHIE 3 A1 8 » >K n HYAJRE(H.Z A
If the remainder of a three-digit number n divided by 6 and 11 is 3 and 8 respectively, find the sum of all
possible values of n.

~ ZH5E ~
~ End of Section B ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

NED - T oy
Section C — each question carries 7 marks

17)

18)

19)

20)

ST 596 % 562 + 289 -
Simplify /596x562 + 289 .

18 2 —EIFESHAVIE S ERUE P H—Ha %/ MEET Ve e w8 EHN R R T ?
Figure 18 is a chessboard. If squares are selected from the figure, how many squares embrace odd
number of black grids are there?

18
Figure 18

H—BARE A 3 EAENERT - B o (NERFZHE 312 > K niyfE -
If a natural number # has 3 different prime divisors and the sum of all positive divisors of # is 312, find
the value of n.

1SR TE R T PR R R (B i FRPHERG 8y T 470K, 5 50008 n (B R T 47
W, o 0B T AP o B4 : (14.15) - (21,22)H0E T2 AR, o R n IIEAALE -

If a positive integer can be factorized as the product of two prime numbers, we call it a “good number”. If
n consecutive positive integers are good numbers, then they are a “group of n good numbers”. For

example: (14,15) ~ (21,22) are both “groups of 2 good numbers”. Find the largest possible value of n.

~ BET ~
~ End of Paper ~
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